Dashboard / My courses / PROBABILITY AND ENGINEERING STATISTICS-Lecture-1201 - meta / Chapter Two
/ Short exam-chapter 2-makeup December 12

Started on

State

Completed on
Time taken

Question 1
Correct

Mark 5.00 out of
5.00

Question 2
Partially correct

Mark 2.50 out of
5.00

Grade

Saturday, 12 December 2020, 2:15 PM
Finished

Saturday, 12 December 2020, 3:10 PM
54 mins 58 secs

25.00 out of 30.00 (83%)

Let fx(z) be the probability density function of the random variable X.

2z 0<z<T;
) = 49 - -
f(@) {0, otherwise.

Determine the mean of X. ’2.666 [The answer should be a number rounded to five decimal places, don't use symbols such
as %]

v

One possible correct answer is: 4.6666666666667
Your answer is correct.

The lifetime X of a certain electronic component is an exponential random variable with a mean of 5 hours. Assuming 3
of these components operate independently in a device. The device operates if all components operate.

Find the probability that the lifetime of any electronic component is at least 5 hours. |0.367 [The answer should be a
number rounded to five decimal places, don't use symbols such as %]

v

One possible correct answer is: 0.36787944117144

Find the probability that the device operates for at least 5 hours. |0.632 [The answer should be a number rounded to five

decimal places, don't use symbols such as %]

x

One possible correct answer is: 0.049787068367864

Your answer is partially correct.

You have correctly answered 1 part(s) of this question.


https://itc.birzeit.edu/my/
https://itc.birzeit.edu/course/view.php?id=8966
https://itc.birzeit.edu/course/view.php?id=8966#section-4
https://itc.birzeit.edu/mod/quiz/view.php?id=165502

Question 3
Partially correct

Mark 2.50 out of
5.00

Question 4
Correct

Mark 5.00 out of
5.00

The number of cars that arrive at a certain intersection follows the Poisson distribution with a rate of 1.9 cars/min.

What is the probability that at least one car arrives in a 2.3 minutes period? |.9873 [The answer should be a number
rounded to five decimal places, don't use symbols such as %]

v

One possible correct answer is: 0.98734875943199

What is the probability that more than two cars arrive in a 3.4 minutes period? |O.811 [The answer should be a number
rounded to five decimal places, don't use symbols such as %]

x

One possible correct answer is: 0.95567590966652

Your answer is partially correct.

You have correctly answered 1 part(s) of this question.

The probability density function for a piecewise continuous random variable X is given as

Kz, 0 <z <0.15;
flzy=<¢6—62, 0.15<2<0.3;
0, otherwise.

Find the value of the constant K. |26.88 [The answer should be a number rounded to five decimal places, don't use
symbols such as %]

v

One possible correct answer is: 26.888888888889

Your answer is correct.



Question B
Let X be a random variable that follows the normal distribution with 1x = 4.8 and Ug( = 1. Anew random variable Y is

Correct
oree defined by the transformation Y=|X-1|, where || is the absolute value of 7.

Mark 5.00 out of

o0 Probabilities for the standard normal distribution

Probability

Table entry for z is the
probability lying to the left of =
z
z .00 01 .02 .03 04 .05 .06 .07 .08 .09

0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
09 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 08770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 109032 09049 0.9066 0.9082 0.9099 0.9115 09131 09147 09162 09177
1.4 | 09192 09207 0.9222 09236 0.9251 0.9265 0.9279 0.9292 09306 0.9319
1.5 109332 09345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 09484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 0.9582 0.9591 0.9599 09608 0.9616 09625 0.9633
1.8 | 0.9641 09649 0.9656 0.9664 09671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 09756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 09817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 | 09861 0.9864 0.9868 0.9871 0.9875 0.9878 09881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 09901 0.9904 0.9906 09909 0.9911 0.9913 09916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
25109938 09940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 09975 0.9976 09977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2909981 0.9982 0.9982 0.9983 0.9984 0.9984 09985 0.9985 0.9986 0.9986
3.0 | 0.9987 09987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 09995 0.9995 0.9996 0.9996 0.9996 09996 0.9996 0.9996 0.9997
3.4 0.9997 09997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(Y < 1.2). If the required probability does not appear in the table below. Use the closest probability value.

.0045 [The answer should be a number rounded to five decimal places, don't use symbols such as %]

v

One possible correct answer is: 0.0046493759847422

Your answer is correct.



Question 6

Let X be a random variable that follows the normal distribution with 1x = —1.8 and Ug( =1
Correct
';"g;k 500 outof Probabilities for the standard normal distribution
Probability

Table entry for z is the
probability lying to the left of =

z

z .00 01 02 .03 .04 .05 .06 .07 .08 .09
0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 05239 05279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
02 ]0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
03 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 [ 0.9032 09049 09066 0.9082 0.9099 0.9115 09131 0.9147 09162 0.9177
1.4 109192 09207 0.9222 0.9236 09251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 09332 09345 0.9357 09370 0.9382 0.9394 09406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 0.9484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 09582 0.9591 0.9599 09608 0.9616 0.9625 0.9633
1.8 | 09641 09649 0.9656 09664 0.9671 0.9678 09686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 0.9756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 0.9817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 109861 09864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 0.9901 0.9904 0.9906 09909 0.9911 0.9913 0.9916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
2.5109938 0.9940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 0.9975 0.9976 0.9977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2.9 09981 09982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986
3.0 | 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 09991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 109997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(X < —0.69).(0.866 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v

One possible correct answer is: 0.86645915893067

Compute P(X > —1.39).{3409 [The answer should be a number rounded to five decimal places, don't use symbols

such as %]

v

One possible correct answer is: 0.3399752505073

Compute P(X < 72.91). 1335 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v



One possible correct answer is: 0.13354084106933

Compute P(X > —3.46). |.951 5 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v

One possible correct answer is: 0.95132892880743

Your answer is correct.
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Question 1
Let X be a random variable that follows the normal distribution with ©x = 1.4 and Ug( =4
Correct

';"g;k 500 outof Probabilities for the standard normal distribution

Probability

Table entry for z is the
probability lying to the left of =

z

z .00 01 02 .03 .04 .05 .06 .07 .08 .09
0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 05239 05279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
02 ]0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
03 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 [ 0.9032 09049 09066 0.9082 0.9099 0.9115 09131 0.9147 09162 0.9177
1.4 109192 09207 0.9222 0.9236 09251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 09332 09345 0.9357 09370 0.9382 0.9394 09406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 0.9484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 09582 0.9591 0.9599 09608 0.9616 0.9625 0.9633
1.8 | 09641 09649 0.9656 09664 0.9671 0.9678 09686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 0.9756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 0.9817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 109861 09864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 0.9901 0.9904 0.9906 09909 0.9911 0.9913 0.9916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
2.5109938 0.9940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 0.9975 0.9976 0.9977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2.9 09981 09982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986
3.0 | 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 09991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 109997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(X < 4.54)4 |0.941 [The answer should be a number rounded to five decimal places, don't use symbols such
as %]
v

One possible correct answer is: 0.94156027936196

Compute P(X > 4.3). 0.073 [The answer should be a number rounded to five decimal places, don't use symbols such as
%]

v

One possible correct answer is: 0.07376516091827

Compute P(X < 70.04). 0.235 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v



Question 2
Partially correct

Mark 2.50 out of
5.00

Question 3
Correct

Mark 5.00 out of
5.00

Question 4
Not answered

Marked out of
5.00

One possible correct answer is: 0.23519667736935

Compute P(X > —0.52). |0.831 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v

One possible correct answer is: 0.83163045688232
Your answer is correct.

The lifetime of a certain kind of automobile battery follows the exponential distribution with a mean value of 2 years.

If the manufacturer wants to limit the percentage of replaced batteries to no more than 12%, find the number of years he
should have to guarantee batteries. ’E [The answer should be a number rounded to five decimal places, don't use
symbols such as %]

v

One possible correct answer is: 0.25566674301977

Find the probability that a single component operates for at least 2.8 years. |0.165 [The answer should be a number
rounded to five decimal places, don't use symbols such as %]

x

One possible correct answer is: 0.24659696394161

Your answer is partially correct.

You have correctly answered 1 part(s) of this question.

Let fX(:v) be the probability density function of the random variable X.

f(x):{%m 0<z<T,;

0, otherwise.

Determine the mean of X. ’:\.666 [The answer should be a number rounded to five decimal places, don't use symbols such
as %]

v

One possible correct answer is: 4.6666666666667
Your answer is correct.

A bus company knows that 5 percent of the people making reservations on a certain trip will not show up. Consequently,
their policy is to sell 50 tickets for a trip that can hold only 48 passengers.

What is the probability that at least one passenger will be left unseated? | [The answer should be a number rounded
to five decimal places, don't use symbols such as %]

x

One possible correct answer is: 0.2794317523207

Your answer is incorrect.



Question B
Let X be a random variable that follows the normal distribution with 1x = 5.6 and Ug( = 4. Anew random variable Y is

Correct
oree defined by the transformation Y=|X-1|, where || is the absolute value of 7.

Mark 5.00 out of

o0 Probabilities for the standard normal distribution

Probability

Table entry for z is the
probability lying to the left of =
z
z .00 01 .02 .03 04 .05 .06 .07 .08 .09

0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
09 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 08770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 109032 09049 0.9066 0.9082 0.9099 0.9115 09131 09147 09162 09177
1.4 | 09192 09207 0.9222 09236 0.9251 0.9265 0.9279 0.9292 09306 0.9319
1.5 109332 09345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 09484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 0.9582 0.9591 0.9599 09608 0.9616 09625 0.9633
1.8 | 0.9641 09649 0.9656 0.9664 09671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 09756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 09817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 | 09861 0.9864 0.9868 0.9871 0.9875 0.9878 09881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 09901 0.9904 0.9906 09909 0.9911 0.9913 09916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
25109938 09940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 09975 0.9976 09977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2909981 0.9982 0.9982 0.9983 0.9984 0.9984 09985 0.9985 0.9986 0.9986
3.0 | 0.9987 09987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 09995 0.9995 0.9996 0.9996 0.9996 09996 0.9996 0.9996 0.9997
3.4 0.9997 09997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(Y < 0.5). If the required probability does not appear in the table below. Use the closest probability value.

0.014 [The answer should be a number rounded to five decimal places, don't use symbols such as %]

v

One possible correct answer is: 0.01488744797517

Your answer is correct.



Question 6
Incorrect

Mark 0.00 out of

Let X be a random variable representing the time (in years) it takes to develop software. Suppose that X has the following
probability density function

5.00 fla) = 5xt, 0<z<1
0, otherwise.
Compute the probability that it takes more than 6 months to develop the software given that the developer has already
been working on the software for 2 months. |0.031 [The answer should be a number rounded to five decimal places, don't
use symbols such as %]
X
One possible correct answer is: 0.96887459807074
Your answer is incorrect.
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/ Short exam-chapter 2-makeup December 12

Started on

State

Completed on
Time taken

Question 1
Correct

Mark 5.00 out of
5.00

Question 2
Correct

Mark 5.00 out of
5.00

Grade

Saturday, 12 December 2020, 2:15 PM
Finished

Saturday, 12 December 2020, 3:08 PM
53 mins 27 secs

30.00 out of 30.00 (100%)

A test consists of 8 MCQs (multiple choices questions) with every MCQ having its four options out of which only one is
correct. A student passes the test if he answers 6 or more questions correctly.

If an unprepared student only guesses the correct answer out of the four possible choices, what is the probability that he

passes the test? [0.004 [The answer should be a number rounded to five decimal places, don't use symbols such as %]
v

One possible correct answer is: 0.0042266845703125

Your answer is correct.

The probability density function for a piecewise continuous random variable X is given as

Kz, 0 <z <0.25
flz)=<¢ 6—62, 0.25 <2z <0.5
0, otherwise.
Find the value of the constant K. |2 [The answer should be a number rounded to five decimal places, don't use

symbols such as %]

v

One possible correct answer is: 2

Your answer is correct.
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Question 3
Let X be a random variable that follows the normal distribution with 1x = 4.6 and Ug( = 4. Anew random variable Y is

Correct
oree defined by the transformation Y=|X-1|, where || is the absolute value of 7.

Mark 5.00 out of

o0 Probabilities for the standard normal distribution

Probability

Table entry for z is the
probability lying to the left of =
z
z .00 01 .02 .03 04 .05 .06 .07 .08 .09

0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
09 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 08770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 109032 09049 0.9066 0.9082 0.9099 0.9115 09131 09147 09162 09177
1.4 | 09192 09207 0.9222 09236 0.9251 0.9265 0.9279 0.9292 09306 0.9319
1.5 109332 09345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 09484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 0.9582 0.9591 0.9599 09608 0.9616 09625 0.9633
1.8 | 0.9641 09649 0.9656 0.9664 09671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 09756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 09817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 | 09861 0.9864 0.9868 0.9871 0.9875 0.9878 09881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 09901 0.9904 0.9906 09909 0.9911 0.9913 09916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
25109938 09940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 09975 0.9976 09977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2909981 0.9982 0.9982 0.9983 0.9984 0.9984 09985 0.9985 0.9986 0.9986
3.0 | 0.9987 09987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 09995 0.9995 0.9996 0.9996 0.9996 09996 0.9996 0.9996 0.9997
3.4 0.9997 09997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(Y < 0.8). If the required probability does not appear in the table below. Use the closest probability value.

0.066 [The answer should be a number rounded to five decimal places, don't use symbols such as %]

v

One possible correct answer is: 0.067041133964812

Your answer is correct.



Question 4

Let X be a random variable that follows the normal distribution with 1x = —0.9 and Ug( =4
Correct
';"g;k 500 outof Probabilities for the standard normal distribution
Probability

Table entry for z is the
probability lying to the left of =

z

z .00 01 02 .03 .04 .05 .06 .07 .08 .09
0.0 | 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 05239 05279 0.5319 0.5359
0.1 | 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
02 ]0.5793 05832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
03 | 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 | 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 | 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 | 0.7257 07291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 | 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 | 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 | 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 | 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 | 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 | 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 [ 0.9032 09049 09066 0.9082 0.9099 0.9115 09131 0.9147 09162 0.9177
1.4 109192 09207 0.9222 0.9236 09251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 09332 09345 0.9357 09370 0.9382 0.9394 09406 0.9418 0.9429 0.9441
1.6 | 09452 09463 0.9474 0.9484 0.9495 0.9505 09515 0.9525 09535 0.9545
1.7 | 09554 09564 0.9573 09582 0.9591 0.9599 09608 0.9616 0.9625 0.9633
1.8 | 09641 09649 0.9656 09664 0.9671 0.9678 09686 0.9693 0.9699 0.9706
1.9 | 09713 09719 09726 09732 0.9738 0.9744 09750 0.9756 09761 0.9767
2009772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 09812 0.9817
2.1 {09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 109861 09864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 109893 09896 0.9898 0.9901 0.9904 0.9906 09909 0.9911 0.9913 0.9916
2409918 09920 0.9922 09925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
2.5109938 0.9940 0.9941 0.9943 0.9945 0.9946 09948 0.9949 0.9951 0.9952
2.6 | 09953 09955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 109965 09966 0.9967 0.9968 0.9969 0.9970 09971 0.9972 0.9973 0.9974
2.8 109974 0.9975 0.9976 0.9977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
2.9 09981 09982 0.9982 0.9983 0.9984 0.9984 09985 0.9985 0.9986 0.9986
3.0 | 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 09990 09991 09991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 09993 09993 0.9994 0.9994 0.9994 0.9994 09994 0.9995 0.9995 0.9995
3.3 109995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 109997 09997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998

Compute P(X < 2.82)4 |0.968 [The answer should be a number rounded to five decimal places, don't use symbols such
as %]
v

One possible correct answer is: 0.96840871227336

Compute P(X > 3.74). |0.01 0 [The answer should be a number rounded to five decimal places, don't use symbols such
as %]

v

One possible correct answer is: 0.010186428631595

Compute P(X < —4.74).(0.027 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v



Question B
Correct

Mark 5.00 out of
5.00

Question 6
Correct

Mark 5.00 out of

One possible correct answer is: 0.027555766602412

Compute P(X > —2.28). |0.754 [The answer should be a number rounded to five decimal places, don't use symbols
such as %]

v

One possible correct answer is: 0.7555197818835
Your answer is correct.

Let fx(z) be the probability density function of the random variable X.

f(w)—{‘%gz 0<z<T;
0, otherwise.

Compute P(X > 2.2) |0.901 [The answer should be a number rounded to five decimal places, don't use symbols such as
%]
v

One possible correct answer is: 0.90122448979592
Your answer is correct.

The lifetime of a certain kind of automobile battery follows the exponential distribution with a mean value of 2 years.

If the manufacturer wants to limit the percentage of replaced batteries to no more than 19%, find the number of years he

5.00 should have to guarantee batteries. |0.421 [The answer should be a number rounded to five decimal places, don't use
symbols such as %]
v
One possible correct answer is: 0.42144206263131
Find the probability that a single component operates for at least 2.8 years. |0.24€ [The answer should be a number
rounded to five decimal places, don't use symbols such as %]
v
One possible correct answer is: 0.24659696394161
Your answer is correct.
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